KITH & KIN INTERNATIONAL COLLEGE
7/11 Kaoli Olusanya Street, Owode Ibeshe, Ikorodu, Lagos State.
THIRD TERM EXAMINATION  2024/2025 ACADEMIC SESSION





	
NAME
	

	SUBJECT
	ENGLISH LANGUAGE                         PAPER     1 AND 3
	CLASS
	SS 1
	DURATION
	1 HOUR
45 MINUTES



SECTION A OBJECTIVE TEST (80 MARKS).
Instruction: Answer all questions from this section.
From the words lettered A—D, choose the one that is most nearly opposite in meaning to the word in bold letters and that can fill the gap in the sentence.
1. 
2

1. Abiola purchased various goods at the big sale near Katosem Global resources.
A. sold
B. destroyed
C. rented
D. lent
2. In this argument, Mr. Ologbon was my supporter, even though he was often my----
A. opposition
B. proposer
C. opposite
D. opponent
3. The leader of the delegation was commended for the manner in which he handled the matter.
A. sanctioned
B. criticized
C. applauded
D. praised
4. You should be-----so as not to be caught unaware.
A. serious
B. sober
C. ready
D. alert
5. Bolanle’s beauty is natural but her sister’s rather-------
A. fake
B. unnatural
C. awkward
D. artificial
6. Sehindemi refused to accept the offer of a job in the rural area; he preferred one in the ---area.
A. local
B. urban
C. township
D. municipal
7. The management has neither-----nor denied the rumour that it was going to lay off some workers.
A. pronounced
B. rejected
C. confirmed
D. advertised
8. Many students objected to the demolition of the library which----cost millions of naira.
A. construction
B. maintenance
C. formation 
D. design
9. The man was accused of premeditated   murder of the police but he pleaded that it ----
A. accidental
B. determined
C. planned
D. contrived
10. My grandfather, rather than being---, was often quite prejudiced in his opinions.
A. subjective
B. strict
C. impartial
D. discriminating.
From the words lettered A—D, choose the word that best completes each of the following sentences.

11. This is an improvement ----your last essay.
A. with
B. by
C. on
D. for
12. The lady---you were talking about yesterday is here now.
A. whose
B. whom
C. who’s
D. which
13. Aduuni turned---the advances made by the men.
A. aside
B. off
C. away
D. down
14. The ----programme against childhood diseases has ended
A. immunization
B. injection
C. vaccination
D. harmonization
15. I was advised to open a----account with the bank if I wanted to pay in cheques.
A. deposit
B. saving
C. current
D. loans
16. One of the victims----rushed to the nearest hospital.
A. was
B. have been
C. were being
D. were
17. They finally broke----after years of being together.
A. up
B. away
C. in
D. out
18. Iyanu ----tears of joy when he heard about his success.
A. broke out
B. broke into
C. broke up in
D. broke with
19. The national basketball team----expected back from Brazil this evening.

A. are
B. were
C. is
D. was
20. The contractors set the ladder----the wall.
A. at
B. on
C. by
D. against
After each of the following sentences, a list of possible interpretations is given. Choose the interpretation that you consider most appropriate for each sentence.
21. The candidates were told that passing the examination wasn’t a passport to getting an admission. This means   
A. it is not a guarantee of admission 
B. it is a suggestion in admission
C. it is an equivalent to admission
D. it is a necessity for admission
22. The accused was caught red-handed by the police. This means that the accuse was 
A. made to wear red gloves
B. found in very act
C. thought to be in danger
D. found covered with blood
23. The woman supported her husband through thick and thin. This means the she supported her husband
A. in both good and bad health.
B. when he was fat and when he was thin
C. whether he was behaving badly or well
D. in both good and bad circumstances.
24. He left the country to avoid loss of face. This means that he left the country to
A. make his fortune somewhere else
B. seek refuge
C. seek revenge
D. avoid being publicly humiliated.

25. The boy went scot-free even though he insulted his teacher. This means that the boy was
A. free to move about
B. expelled from school
C. not punished

D. cautioned seriously
26. Our teacher advised us not to go with the crowd. This means that he advised us not to
A. travel with the crowd.
B. have many friends.
C. be unduly influenced by others.
D. stay too much in the crowd.
27. That account of the incident is true to a degree. This means that the account is 
A. not clear
B. totally wrong
C. partly true
D. completely true.
28. People hardly show their colours. This means that people rarely show
A. how colourful they can be
B. how noble they are
C. their abilities
D. their real characters.
29. The accountant falsified the records in order to feather the nest. This means that the accountant tried to
A. put a feather in his cap
B. make himself rich
C. deceived his boss
D. avenged the wrong done to him by his boss.
30. My father told me that old habits die hard. This means that the old habits are
A. difficult to change
B. short-lived
C. forever changing
D. easily developed  
From the words lettered A—D, choose the word or group of words that is nearest in meaning to the words in bold letters and as it is used in the sentences.
31. My choice of partner would be based on character not looks.
A. appearance
B. feasibility
C. visibility
D. posture
32. The principal’s orders are imperative 
A. lenient
B. genuine
C. necessary
D. optional



33. Lola attempted to entice Bade with the promise of a handsome some of money.
A. force
B. enchant
C. persuade
D. trick
34. He was reluctant to sign my request.
A. disposed
B. delighted
C. unwilling
D. agreeable
35. You will incur the wrath of you mother if you do that.
A. debt
B. anger
C. expenditure
D. favour
36. Her eloping with a married man is a stigma to our family.
A. pride
B. disappointment
C. disgrace
D. promotion
37. The court restrained the company from laying off the striking workers.
A. compelled
B. prevented
C. ordered
D. cajoled
38. The execution of the projects has been hampered by lack of funds.
A. forbidden
B. hindered
C. revoked 
D. accelerated
39. Corruption is inimical to the progress of any nation.
A. predominant
B. inevitable
C. unavoidable
D. harmful
40. The boss is quite flexible in his judgement.
A. rigid
B. relax
C. wicked
D. excited.



From the words lettered A—D, choose the word or group of words that best completes each of the following sentences.
41. Good students are expected to abide---the laws of the school.
A. by
B. in
C. to
D. with
42. Mosquito parasite has become -----to quinine
A. opposed
B. defiant
C. successful
D. resistant
43. The new bakery will---one thousand loaves of bread daily.
A. turn over
B. turn out
C. turn in
D. turn up
44. The young man came to Lagos ----intention of staying with his friends.
A. for
B. on
C. with
D. by
45. The pastor told the congregation to abstain----smoking.
A. from
B. with
C. in
D. for
46. Motisetan was absent from school yesterday…..?
A. isn’t it
B. was he
C. wasn’t he
D. didn’t he
47. ------went to see the school bursar last week.
A. I and my mother
B. My mother and I
C. Myself and my mother
D. My mother and me
48. The pencil---you gave me yesterday is lost.
A. who
B. whom

C.  whose
D. that
49. The government has nothing for -----
A. the poors
B. the poor
C. poor
D. poors
50. The author---book you are reading now won the Nobel Prize for Literature last year.
A. whom
B. whose
C. which
D. that
51. The two friends met for one month to iron—their differences.
A. out
B. up
C. in
D. of
52. The student’s -----of the word is faulty.
A. pronouncement
B. promulgation
C. prolongation
D. pronunciation
53. I was still explaining my action when Duro cut----
A. in
B. out
C. off
D. away
54. The thief died shortly after---shot at by the police.
A. having
B. been
C. being
D. becoming
55. I think he ---his mother
A. takes to
B. take for
C. takes
D. takes after
56. I prefer drinking---
A. to eat
B. to eating
C. from eating
D. than eating
57. Please go on, I ---you
A. hear
B. am hearing

C. can hear
D. was hearing 
58. With the recent police action, we expect the high incidence of crime to----
A. die away
B. die off
C. die up
D. die down
59. The members of the Association of Criminals were just rounding----their discussion when the police arrived.
A. up
B. in
C. off
D. of
60. -----is not good for children
A. To have skipped breakfast
B. Skip breakfast
C. Skipping breakfast
D. To have been skipping breakfast
61. I could not attend the meeting, so I asked my sister to stand---for me
A. up
B. on
C. by
D. in
62. One of the victims ---rushed to the hospital.
A. were being
B. were
C. was
D. have been
63. If I ---your father, I would call the police
A. am
B. will be
C. were
D. have been
64. It was Bello that I saw, ------?
A. wasn’t he
B. wasn’t it
C. didn’t it
D. was he
65. The worker’s strike----as a result of the Director’s intervention.
A. called in
B. called back
C. called out 
D. called off
66. The visitor was uncomfortable because of his----nose
A. flowing
B. running
C. runny
D. watery
67. The plane ----at 2 0’ clock yesterday.
A. took up
B. take off
C. took off
D. take up
68. Ojo invited ---to his birthday party.
A. Bola and I 
B. myself and Bola
C. Bola and myself
D. Bola and me
69. The Baale wanted to study the document---- the background of the latest development.
A. with
B. against
C. in
D. over
70. Only one of the contestants----able to answer the question correctly.
A. are
B. were
C. was
D. can be
 Choose from the word lettered A—D, choose the word that is most suitable to fill the numbered gaps in the passage.

The problem of unemployment is very great in many African countries. The—71—of labour is always far greater than the number of—72—provided. Consequently, there are armies of job seekers roaming the streets. It is the responsibilities of the government to create jobs and organize—73—programmes in order to achieve greater employment. –74—can be sunk into these—75--, which absorb more—76—. A man with a regular job will be able to feed himself and save a little in the bank which will earn some—77—. The government could raise money through a rational economic –78—, whereby undue consumption of luxury and foreign goods is discouraged. The country’s—79—structure can also be planned so that nationals are encouraged to work harder for incentives. The government can also protect –80—industries.



         A				B			C			D	
71.  circulation	            distribution 		stock			supply
72.  work		            jobs			careers			activities
73.  impact			crash			turnover		remedial
74.  Capital			Salaries		Reserves		income
75.  plans			arrangements		projects		concepts
76.  effort			officers		labourers		workers
77.  increment			interest			credit			surplus
78.  objective			goal			policy			solution
79.  salary			tariff			insurance		family
80.  poor			infant			competing		complementary

From the words lettered A—D, choose the word that has the same vowel sound as the one represented by the letter(s) underlined.
81. 
seat
	A. sit
	B. cite
	C. set
	D. key
82. mood
	A. look
	B. took
	C. moon
	D. mode
83. buy
	A. supper
	B. tie
	C. coy
	D. bang
84. bull
	A. root
	B. bulk
	C. crude
	D. shook
85. park
	A. mass
	B. heart
	C. fact
	D. thank
86. day
	A. meat
	B. sat
	C. great
	D. beat	
87. turn
	A. sweaty
	B. born
	C. worn
	D. dirty
88. rush
	A. bush
	B. plough
	C. put
	D. rough
89. shark
	A. lack
	B. herd
	C. class
	D. fact	
From the words lettered A—D, choose the word that has the same consonant sound as the one represented by the letter(s) underlined.

90. vice
	A. cat
	B. dress
	C. show
	D. chalk
91. ring
	A. lounge
	B. sin
	C. cringe
	D. bang

92. cheat
	A. sachet
	B. chef
	C. watch
	D. brochure
93. shadow
	A. century
	B. chess
	C. flash
	D. ass
94. gas
	A. gist
	B. ledger
	C. bring
	D. examine
95. bat
	A. lamb
	B. tomb
	C. comb
	D. crib
96. thought
	A. throb
	B. taught
	C. those
	D. though
97. home
	A. hour
	B. hover
	C. heir
	D. honour
98. vain
	A. fane
	B. vest
	C. bane
	D. faint
From the words lettered A—D, choose the word that rhymes with the given word.
99. catch
	A. lash
	B. harsh
	C. match
	D. mast
100. laugh
	A. half
	B. ghost
	C. light
	D. live
101. head
	A. heard
	B. herd
	C. shed
	D. heed
From the words lettered A—D, choose the one that has the correct stress.
102. incompetent
	A. IN-com-pe-tent
	B. in—COM-pe-tent
	C. in-com-PE-tent
	D. in-com-pe-TENT
103. information
	A. IN-for-ma-tion
	B. in-FOR-ma-tion
	C. in-for-MA-tion
	D. in-for-ma-TION
104. criticism
	A. CRI-ti-ci-sm
	B. cri-TI-ci-sm
	C. cri-ti-CI-sm
	D. cri-ti-ci-SM
In the options lettered A—D, all the words except one have the same stress pattern. Choose the one with the different stress pattern.

105. 
A. cigarette
B.  exhibit
C. distribute
D. important
106.
	A. country
	B. river
	C. local
	D. pursue
107. 
	A. elite
	B. canoe
	C. schedule
	D. abuse
The word that receives the emphatic stress is written in capital letter. From the words lettered A—D, choose the one to which the given sentence is the appropriate answer.

108. Nigeria is the largest PRODUCER of petroleum in Africa.
A. Is Nigeria the largest importer of petroleum in Africa?
B. Is Ghana the largest producer of petroleum in Africa?
C. Is Nigeria the largest producer of petroleum in the world?
D. Is Nigeria the largest producer of cocoa in Africa?
109. Few Nigerian politicians are ALTRUISTIC.
A. Are many Nigerian politicians altruistic?
B. Are few Ghanaian politicians altruistic?
C. Are tew Nigerian businessmen altruistic?
D. Are few Nigerian politicians selfish?

110. The new principal deals RUTHLESSLY with lazy students.
A. Does the new principal deal leniently with lazy teachers?
B. Does the former principal deal ruthlessly with lazy teachers?
C. Does the new principal deal ruthlessly with industrious teacher?
D. Does the new principal deal ruthlessly with lazy students?

From the words lettered A—D, choose the word that contains the sound represented by the given phonetic symbol.

111. /ꬱ/
	A. far
	B. scandal
	C. harder
	D. worker
112. /b/
	A. debt
	B. robber
	C. subtle
	D. plumber
113. /au/
	A. plough
	B. tough
	C. may
	D. laugh
114. /ai/
	A. power
	B. tear
	C. sail
	D. buy
115. /i/
	A. meal
	B. wanted
	C. reel
	D. feel
116. /ð/
	A. smooth
	B. theme
	C. method
	D. bath
117. /ʤ/
	A. target
	B. age
	C. gear
	D. saboteur
118. /u:/
	A. full
	B. pull
	C. pool
	D. book
119. /ʧ/
	A. champagne
	B. choir
	C. chaos
	D. chair
120. /j/
	A. quit
	B. cue
	C. judge
	D. cheer.
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SECTION A ESSAY (50 MARKS)
Answer one question only from this section. All questions carry equal marks. Your answer should not be less than 450 words. You are advised to spend about 50 minutes on this section.
1. Write a letter to your friend in another state, telling him/her about the last birthday party you attended.
2. Write an article suitable for publication in the national daily on the topic: The Importance of Traditional Mariage in your society.
3. The level of noise making in your school has become too much unbearable. Now write a letter to the principal of your school, give at least three ways in which it can be eradicated.
4. Your school has been invited to participate in a debate on the topic: Co-education in secondary schools should be eradicated. Write your speech for or against the notion.
5. Write a story to illustrate the saying: The devil makes work for the idle hands.

6. SECTION B COMPREHENSION (20 MARKS).
Answer all questions in this section. You are advised to spend about 30 minutes on this section.
Read the following passage carefully and answer the questions on it.
		No one is certain of the origin of petroleum and natural gas (mixtures of the elements carbon and hydrogen plus certain minor additional elements) because they are migrant materials passing through porous rocks, from their nebulous places where they are now assembled.
		The most common explanation of the derivation of petroleum and natural gas is thinking that they may well have been created through the chemical alteration of plant and animal lives, especially plankton that were once buried in the rocks underlying brackish waters. These plant and animal deposits congealed and were compressed with the passage of time. Essentially, petroleum and natural gas are found in sedimentary rocks such as sandstone and limestone. Places of accumulation of petroleum and natural gas are usually referred to as traps. Usually, the gas migrates to the highest levels. Natural gas and water also occur in oil-bearing rocks. The water collects below the oil and gas collects above the oil. Sometimes, only gas occurs.
		The extraction of oil from the ground starts generally with oil exploitation which may lead to the location of rocks containing commercial quantity of oil. The next important stage involves the drilling of a hole from the earth’s surface into the rocks. The drilling is done by the use of a tall metal structure called a derrick. The derrick holds a metal tube which is rotated by an engine. The tube has a revolving tip called a bit. When the oil-bearing rocks are pierced, the oil gushes to the surface, if it is under pressure. If the pressure is low, then it is pumped to the surface.
		Oil products are mainly used as a source of energy. They are also used for making chemicals; as lubricating oils, wax for making polish, bitumen for road making and so on.
QUESTIONS.
A. Why is it difficult to know the origin of petroleum and natural gas?

B. What is the popular opinion of the origin of petroleum and natural gas?
C. What do you understand by oil exploitation?
D. How is drilling done?
E. Mention any two uses of oil products.
F. “……if it is under pressure.”
i. What is the grammatical name given to the above expression?
ii.   What is its function in the sentence?
G. ‘…. the gas migrates to the highest level.’
What figure of speech is the above expression?
H. For each of the following words, find another word or phrase that means the same and can replace it as it is used in the passage.
       i. porous
ii. common
iii. alteration
iv. congealed
v. starts
7. SECTION C SUMMARY (30 MARKS)
Answer all questions from this section. You are advised to spend 40 minutes on this section.
	Many African states have taken measures in their bid to eradicate illiteracy, but efforts have been hampered by a population growth that is higher than the illiteracy rate. The Algerian delegate said that despite liberalization of primary school education, illiteracy would remain at substantial levels if population growth was not controlled.
	There is also the fear that literacy campaigns in most African states receive only lip service from government functionaries, or are treated as a topic merely for political campaigns. For example, commitments to the Universal Primary Education (UPE) progamme were made at more favourable economic period of the nation’s life. The re-introduction of levies in schools in some states has led to a fall in the school population. In addition, if teachers are not given sufficient incentives to attract and retain their services, they will leave the profession.
	Furthermore, though some educationists regard early childhood education as a priority, nursery education in Nigeria is left to the hands of private people. In Niger, that government, as in Nigeria, prefers to allocate funds to primary rather than to pre-school education. Togo differs by stressing that, psychologically, children must be prepared for a smooth transition into primary education. Its education experts have enlisted UNESCO’s assistance in funding an inexpensive way of to run pre-primary schools. Conversely in Ghana, although nursery schools are privately run, the Ghanaian Ministry of Education has nursery school training centres within its ministry.
	Nevertheless, there is the argument that trying to formalize education at too early an age, kills children’s initiatives. It is also argued that children should be allowed to explore their environment and obtain new information in their indigenous languages to prevent confusion. Therefore, class one programmes should be tailored with assumption that the child has had no previous formal education.
QUESTIONS:
A. In three sentences, one for each, state the three factors which limit the effectiveness of literacy programmes.
B. In a sentence, compare and contrast nursery education in Nigeria, Togo and Ghana.
C. State in two sentences why class one programmes should assume that pupils have previously had no formal education.
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